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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

Toremell FEgem ST WY U W AWie tfqardd: fod |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

ot 7 A e €

All the questions are compulsory.

Y& Y9 1 W &l T IR | g1 ferd |

Write the answer to each question in the given answer-book
only.

o9 99 & T 9 s FEE ofF T am €, S |l 9 W v U
Y waq fag |

For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in
continuity.

AT STR-TfEeR % 7= % gEl IR fafen | aft wE T s e g,
@ - & &ifgm 9= W ok 3% st oAl ¥ Fee 39 ®
‘wmEd fae T |

Write on both sides of the pages of your answer-book. If any
rough work is to be done, do it on last pages of the answer-book
and cross with slant lines and write ‘Rough Work’ on them.
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6. WY wEIER 259 26H = fawey § |
There are internal choices in Question Nos. 25 and 26.
7. UEA U 2W 7T A AEEITR W ¥ |
Question Nos. 2 to 7 are Very Short Answer type.
8. WYT HH® 1% TR W (4, ii, iii, iv ) § R Y4 9 H AR fashed

A, B, C 3R D feu mu ¥ | UET 3HveR S-qfast # fregar aife
ERifcTa-AE

There are four parts (i, ii, iii, iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter‘of the
correct alternative in the answer-book at a place by making a
table as mentioned below :

Wy ShHTeh e 3L /T HHTST
Question No. Correct letter of
the Answer
1. {i)
1. (if)
1. (i1f)
1. (iv)

1. ) % wae =g ok & e dewea ¥ wae € i T fF emm W
frorg € | gfe warat =g #) F=E 6 A €1, 9@ e i S gl

(A) 129 B) 69Hl
(C) 43 (D)  3TH |

The area of a parallelogram and a triangle are equal and their
base is common. If altitude of parallelogram is 6 cm, then

altitude of triangle will be

(A) 12 cm B) 6 cm
(C 4 cm (D) 3 cm.
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@ f=#, o9 F5 O% W £ POR = 140° T, A2 PQRH A &

N

Q
&)  40° B  100°
€ 110° D)  220°.

In figure, O is the centre of the circle and £ POR = 140°, then
the value of 2 PQR will be

Q
(A) 40° (B) 100°
(C) 110° (D) 220°,
(i) TF HGId F A 16 9H ] | SUHT &R BT
&) 8z FH (B) 16 wa ®H
(€ 32 o | (D) 64 naf 94 |
Diameter of a semicircle is 16 cm. Its area will be
(A} 8 msq.cm (B) 16 7 sq.cmn
(@ 32 7w sq.cm. (D) 64 © sq.cm. %
(iv) 4fg Cose—\g3 %, # 0 7F g
Ay 90° (B) 60°
(C) 45° (D) 30°.

If cos © = % , then the value of 6 will be

(A) 90° (B) B60°

) 45° D)  30°. %
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2. UH o HI o UAH IHF (G0l I TRl 1 STIIM T BT |

Find the ratio of the lengths a side and a diagonal of a square. %
3. gUSH TH & gaave d fem s § Ty fafen
Write the relation between angles in the same segment of a circle. i
4. uH g9 H ARl 220 WX ¥ | SHE e T S fnzsz
\
Circumference of a circle is 220 metres. Find its radius. ( T = 27—2 ]
1
2
5. afc cot & =—— &, A sin 0 WA W HIFTT |
V3
If cot 0 = L , then find the value of sin 6. é—
V3
6. —0 o wvemm v F fafag |
V1 +cot?@
Write the simplified form of - cot © %

\!1+cot29.
7. 2 sin 45° . cos 45° Wﬂ'ﬁaﬁaﬁ'ﬂ‘ﬁu I
Find the value of 2 sin 45° . cos 45°.
8. T Wiawdt W@ @il § wH g W e fag =1 farguy fafeu |

Write the locus of a point equidistant from two intersecting straight

lines. 1
9. 139 fom 9w 99 & % W, 5HH R frum Sften 1 e 9wt |

Find the length of a chord which is at a distance 5 cm from the centre

of circle of radius 13 cm. 1

S—09—2—Maths. Il



5

10. fo= H, 99 &1 =" PQ® 3R £ SPQ = 40° % @ £ PRSI HH A1d SIfST |
S

40°

f
¢
o

©

In figure, PQ is diameter of the circle and £ SP@ = 40°. Then find the
value of £ PRS.

40°

5
:
S

©

11. < s % FEE HOT ) FE FI, A S A B, @ 2 A

Find the opposite angles of a cyclic quadrilateral, if one of them is % of

the other. 1

12. afe 3 fogefl (x, 3) T (5, 7) & o9 &t g V17 &I, a1 x 3 99 I
HITST |

If the distance between two points ( x, 3)and (5, 7 ) is V17, then

find the value of x. 1
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13. fog =If9U : sin 65° + cos 25° = 2 sin 65°.

Prove that sin 65° + cos 25° = 2 sin 65°.

14, Tog =ifsT ;

1
4 cot? 45° — sec? 45° + sin 2 30° =7

Prove that 4 cot? 45° — sec? 45° + sin 2 30° =% )
15. fe= #, o BC o1 o wufgasish ADE, @ fog =ifsg

Z ABP = £ ACP.

B

D C

In figure, AD is the right bisector of side BC, then prove that
Z ABP = /£ ACP.

A

D C
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16. fag =ifv & fordt =gds 1 warm st & 7ea-faga =1 faam 9 a9
g4 T TR TS g e |

Prove that the quadrilateral formed by joining the mid-points of the

adjacent sides of a quadrilateral is a parallelogram. 2

17. TF 99 &I § AT ABT ACHUR & | fag #IfST % 39 1 %% £ BAC®
TAfGHSER W BAT |

Two chords AB and AC of a circle are equal. Prove that the centre of

the circle lies on the bisector of 2 BAC. 2

18. == <1 TS 9RO H < S AT W & T FeA O IAEA 997 &% Shi IO
HIFST

e

e Ddh
80 CdF 54

Ed% 32 50
.40 Bd% 26

o AQ W i AR

With the help of the measurements of the table given below, prepare a
rough diagram of the field and calculate the area. 2

Metre
e UptoD
80 54 towards C
32 towards E 50
40 26 towards B

e From A
towards north
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19.

20.

21.

22.

23.

10-5 It 521 & g9 | F1e T Fem-mue w1 #iv 45°% | Beg-wve & =
Ft =R SR SARA F1 FHISC |

A sector is cut from a circle of radius 10:5 cm such that angle of the
sector is 45°. Find the length of the arc and area of the sector. 2

T O H oA, H9E 9 SO wAv: 9 9Hl, 69 e 4dW ¥ 1 =9
ToereeRt W =71 oA 99 S § | A2 W w5 el U= §| s e |
The length, breadth and height of a cuboid are 9 cm, 6 cm and 4 cmn

respectively. It is melted to form a new cube. Find the total surface
area of the new cube. 2
Ta R fF @ x+y=4T5 (-1,1) it (5 7) & foom e
arEve %1 e e ¥ faafeg woh )

Find in what ratio the line x + y = 4 divides the line segment joining
the points (-1, 1 )and (5, 7 }. 2

fog T sin 6 1l +cosé@ _ 9 cosec 6.

1+cose+ sin O

sin 6 1+coso

Prove that l+cos8t sin ) = 2 cosec 8.

fo= o, © fadm, & Mg ®, 3 5 %1 3 W 9 91 € | e
9T % SR 1 A 6 96T 3R = 4 9 € | faei 1 yiE e 9
HiTST |

4 gt

6 ol
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In figure, a toy is in the form of a cone mounted on a hemisphere with
the same radius. The diameter of the base of the conical portion is
6 cm and its height is 4 cm. Find the surface area of the toy. 3

A
<: 6 cm :)

24. TH AH! FHTA W, fHet HR #T AR T T TH TUH W @@ 7 foF #HR &
39 =T SHEA IV 30° § | HAR % 91§ &I AR 50 HeX 3 e W, IHE
0T 45° 9Tl BT ¥ | <9l R AR e 25 (V3 + 1) e R

A person from a point on the level ground observes, the angle of
elevation of the top of a tower as 30°. He walks 50 metres towards
the foot of the tower along level ground and finds the angle of
elevation of the top -of tower as 45°, Show that the height of tower is
25(\/_3+ I]metres. 3

25. fed fo9 §, PAB Us 99 &1 9% @1 &, S 99 %1 AT BW Ufaesg &l ¢,
a fag TW PT w& ¥t W@ © | fag #ifSw PA . PB = PT2,

& aN__B

HIAT
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fea , ©F 99, Y ABC ®t ST BC &1 PT T30 &A@l € 991 ABT ACH
e TH W FAA: QF R T FIT § |

fag &ifse AQ = é (A ABC 1 9fH9 ).
Q
B
C
R

In figure, PAB is a secant of a circle intersecting the circle at A and B.
PT is a tangent at point T. Prove that PA . PB = PTZ2, 3

OR

In figure, a circle touches the side BC of triangle ABC at P and
touches AB and AC produced at Q and R respectively. Prove that

AQ = % ( perimeter of A ABC ). 3
Q

N
P

¢
R

B
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26. fAYs ABC %1 =1 #ifeu f998 <1 BC = 5-4 ¥91 §, £ B = 60° 941

Z C=75° B | 39% A=1:gd bI T FHiITST a1 T=1 & 9g i fafay |
e

Iqs PQR &1 = wifSy f8d =1 QR = 4.2 991, £ P = 55° 997
Z @ =65°% | 30 fays & wfom g9 & T ifgT a9 = & 9 oft
foafay |

Construct a triangle ABC, in which side BC = 5-4 ¢m, £ B = 60° and
£ C = 75° Draw incircle of the constructed triangle and also write the

steps of construction. 3
OR

Construct a triangle PQR in which side QR = 4.2 cm, £ P = 55° and
Z @ = 6b° Draw its circumcircle and also write the steps of

construction. 3
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